SWIFTfit + SWIFTstop Doorset Dimensions

The guide below will help you work out the overall doorset dimensions using the architrave boundary, structual

opening, clear opening width or preferred door leaf dimension as the starting point.
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Structural opening ¢ Clear opening width: Clear opening width ¢ Leaf width:
Clear opening width = Structural Opening —219 Leaf width = Clear opening width + 75
Structural Opening = Clear opening width + 219 Clear opening width = Leaf width —75
Structural opening ¢> Leaf width: Leaf width <> Lipped core width:
Leaf width = Structural Opening — 144 Lipped core width = Leaf width — 12 mm
Structural Opening = Leaf width + 144 Leaf width = Lipped core width + 12 mm

*MIN* Architrave Boundary ¢ Clear opening Width:

Clear opening width =*MIN* Architrave Boundary —281
*MIN* Architrave Boundary = Clear opening with + 281
(NOTE: Architrave width can be increased)



